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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet,

——— . an——————— ——————— ————— ——— —— - —— |

- jnto violence.

What was intended as a peaceful demonstration rapidly

1} agitated 2} degenerated 3) preceded 4} discriminated
The Democratic Party ————- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembied
Some animals can ---------- very high temperatures.

1) detach 23 submit 3} obstruct 4} withstand

Researchers have discovered that up to one half of all children born of alcoholics are
genetically ---------- to alcoholism.

1y discerned 2} apprehended 3} predisposed 4} inpressed
Communication via the Internet gives an important --------- - to international trade.
Iy dimension 2} exposurc 3) expenditure 4} distribution
Lack of childcare facilities can be 1 major --—— — for women wishing to work.

1) dispute 2} routine 3) obstacle 4) contraction
It is a common ------- - that women are worse drivers than men.

1) essence 2} impetus 3) fallacy 4) amusement
The -—----— for using this feaching method is to encourage student confidence.

1) advent 2} rationale 3) authenticity 4) constitulion
The degree of punishment should be -------—-- to the seriousness of the crime.

1} inclined 2} receptive 3) prominent 4) proportional
Low intlation is the key to --—--—-- economic growth.

1} sustained 2} congruous 3) extravagant 4% well-disposed

11-
12-

13-
14-
15-

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
{4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were parnt of the British Empire. It was constituted by the Statute of Westminsicr,
{11} - the British Dominions were recognized as ‘autonomous communities’, {12) ---—--—
the British Crown, Since 1947, when India chose (13) = withim the Commonwealth, it
has consisted of an increasing nuwmber of republics, so that the role of the British monarch, who
15 the head of only seventcen {14) ---—--—-- a total of fifty-three member states, is confined
{15} --—---—- head of the Commuonwealth. Given that its member states have little in COIMIMIOLT
apart from a historical tic 1o the UK, it has rarcly been able to influence world affairs, except
perhaps for its leadership on the intemational imposition of sanctions upon South Africa,

1} so 2) which 3% 50 that 4} 1n which

1) banding together 2} bound topether by

3} torether having bound 4} having bound together

|} to remain 2} remaining 3y for remaining, 47 16 be romalned
1} by 2y out of 1) within 4) outside

1) for 2) to who is 1) to that of 4) that she ig
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer
sheet,

PASSAGE 1:

In nuclear medicine imaging, radiopharmaceuticals are taken internally, for example
intravenously or orally. Then, gxtemnal detectors {gamma cameras) capture and form
images from the radiation emitted by the radiopharmaceuticals. This process 15 unlike
a diagnostic X-ray where external radiation is passed through the body to form anm
image. Nuclear medicine imaging may also be referred to as radionuclide imaging.
Wuclear medicine tests differ from most other imaging modalities in that diagnostic
tests primarily show the physiological function of the system being investigated as
opposed to traditional anatomical imaging such as CT or MRI. Nuclear Medicine
- imaging studies are generally more organ or tissue specific (e.g.: lungs scan, heart
scan, bone scan, brain scan, etc.) than those in conventional radiology imaging, which
focus on a particular section of the body (e.g.: chest X-ray, abdomen/pelvis CT scan,
head CT scan, ete.). In addition, there are nuclear medicine studies that allow imaging
of the whole body based on certain cellular receptors or functions. Examples are
whole body PET or PET/CT scans, Gallivm scans, white blood cell scans, MIBG and
Octreotide scans.
In some centers, the nuclear medicine scans can be superimposed, using software or
hybrid cameras, on images from modalities such as CT or MRI to highlight the part of
the body in which the radiopharmaceutical is concentrated. This practice is often
referred to as image fusion or co-registration, for example SPECT/CT and PET/CT.
The fusion imaging technique in muclear medicine provides information about the
anatomy and funetion, which would otherwise be unavailable, or would require a
moere invasive procedure or surgery. Very often Nuclear Medicine studies can identify
medical problems at an earlier stage than other diagnostic tests.
Diagnostic tests in nuclear medicine exploit the way that the bady handles substances
differently when there is discase or pathology present. The radionuclide introduced
into the body is often chemically bound to a complex that acts characleristically
within the body; this is commonly known as a tracer. In the presence of disease, a
tracer will often be distributed around the body and/or processed differently.

What does the passage mainly discoss?

1} Diagnastic X-ray External Radiation 2) Diagnostic Nuclear Medicine Imaging

3} Certain Cellular Receptors or Functions 4) Certain Methods of Whole Body Imaging
According to the passage, the radivactive medications are taken -——-- - In nuclear
medicine imaging.

1} mercly by way of a vein 2) only through the mouth

1) by way of the mouth or a vein 4y neither through the mouth nor a vein

If the author is right, then nuclear medicine imaging --------- in diagnosing diseases.

1) uses the external radiation 2} is completely difforent from X-ray

3) is more or less like external radiation 4} employs the same method as X-ray does

The author explicitly states that C1 or MRI primarily ———- of the system being
investigated. :

1) reveals imaging modalities 2) shows physiological modalities

3) reveals anatomical nmaging 4) shows the physielogical function
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Examples such as MIBG and Octreotide scans indicate that ——--—----- "

13 white blood cell scans are possible through nuclear imaging

2) certain nuclear studies make possible imaging of the whole body

3} whole body PET or PET/CT scans are possible using traditional methods

4) nuclear medicine imaging studies are generally more organ or tissue specific
As mentioned in the passage, images from modalities like CT or MRI are
centers.

1} combined with the nuclear medicine scans

2}y extracted from the nuclear medicine scans

3) highlighted to extract radiopharmaceuticals

4) highlighted o concentrale radiopharmaceuticals

Which of the following is true if the fusion imaging technique in nuclear medicine is not
applied?

1) More invasive procedure or surgery will be required,

2) Medical problems will be identified at an earlier stage.

3) The information about the anatomy and function will easily be accessible.

4} The information about the anatomy and function will never be unavailable.

What does the word “radionuclide” in line 25 refer to?

1} typé of atom that is identifiable by radicactivity

2) type of atom that is identifiable by its energy content

3} tracer of any kind introduced into the body to treat an illness

4) tracer of any kind introduced into the body to identify a virus

in some

PASSAGE 2;

For example, the ligand methylene-diphosphonate (MDP) can be preferentially taken
up by bone. By chemically attaching technetium-99m to MDP, radioactivity can be
transported and attached to bone via the hydroxyapatite for imaging. Any increased
physiological function, such as due to a fracture in the bone, will usually mean
increased concentration of the tracer. This often results in the appearance of 2 'hot-
spat’ which is a focal increase in radio-accumulation, or a general increase in radio-
accumulation throughout the physiological systemn. Some disease processes result in
the exclusion of a tracer, resulting in the appearance of a 'cold-spot'. Many tracer
complexes have been developed in order to imape or treat many different organs,
glands, and physiological processes.

The amount of radiation from diagnostic nuclear medicine procedures is kept within a
safe limit and follows the ALARA (As Low As Reasonably Achievable) principle.
The radiation dose from nuclear medicine imaging varies greatly depending on the
type of study. The effective radiation dose can be lower than or compalible to the
annual background radiation dose. It can also be in the range or higher than the
radiation dosc from an abdomenfpalvis CT scan.

Some Nuclear Medicine procedures require special ‘patient preparation, before the
stucly, to obtain the most accurate result. Pre-imaging preparations may include
dietary preparation or withholding of certain medications. Patients are encouraged to
consult with the Nuclear Medicine department prior to a scan Diagnoestic nuclear
medicing imaging === In nuclear medicine imaging, radiopharmaceulicals are taken
internally, for example intravenously or orally. Then, external detectors (gamma
cameras) capture and form  images from the radiation emitted by the
radiopharmaceuticals. This process is unlike a diagnostic X-ray where external
radiation is passed through the body to form an image. Nuclear medicine imaging
may also be referred to as radionuclide imaging.
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Accarding to the anthor, radioactivity can -—---—--- the hydroexyapatite for imaging by
chemically attaching technetium-99m to MDP.

1) adhere to bone due to 2} cling to bone because of

1) be attached to bone despite 4) be carmried to bone by means of

What does “this” in line 5 refer to?

1) the fracture in the bone 2) increased physolopical function

3 increased concentration of the tracer 4) the general increase in radio-accumulation

Which of the following is NOT mentioned in the passape?

1} Some disease processes result in the exclusion of 4 tracer,

2} The exclusion of a tracer results in the appearance of a “cold-spot”.

3) Tracer complexes have been developed to image many different organs.

4) MDP increases in radic-accumulation throughout the physiological system.
What does the second paragraph mainly discoss?

1) Radiation Dose 2y Nuclear Medicine

3) Effective Radiation 47 Abdomen/pelvis CT Scan

¥Why do certain nuclear medicine procedures need patient preparation?

1} To include dietary preparation. 2) To withhold certain medications.

3) To achieve the most precise result, 4) To take radiopharmaceuticals internally.

Which statement is NOT true about what occurs in nuclear medicine imaging?

1} Gamma cameras form images from the radiation.

2) External radiation is passed through the body.

3) Radiation is emitted by the radiopharmaceuticals,

4) External detectors capture images from the radiation.

1t is mentioned in the passage that pre-imaging preparations --—--—- :

1) may include some sort of surgery 2) never restrain taking some medicines
3) abways limit the amount of {ood caten 4) may consist of dietary measures

e

Dol 2l 3l | o5 0 aia (U Jab o 8 oy |
& (T v Vv bogh

"E'..L'.S'.,_..—E ﬁﬂq1:"5"'9"?":'."""‘ujﬂiﬁfidﬂ'ﬂ‘;‘?w@*“b‘;ﬁuh“?'igﬁuhu-jﬂrdl_q-hju&‘;'ijg
ncmcetl s ot g (T S b gl (T i addgr Al o oblS

oy IR y [ROU TS | O] PP WU T TR TR 5 U T P | B P g e N T T =

rad
ST ) Wil S5 s Sl 5l k0 w53 Las T bl VT

{rn =S oa) (F Y= -f-a (T SANTER'

ok ot g 3 el 2 TIY ol Gl 2 g oen TUA dnbar a0 g b ol i o g3 il Gt g b oo ez
Pl o dudinr Caf puw (Fpp pll 2 by s g Logea

To % b (T T-gr LS

-

2

¥



AANIYS A=l s (&) gl 1K jud

: : n
pHbei® daons 3 slakali g i b Uy = A sin(wt+ Hf} g Uy =6SIn{WE+—) clhaly a2 g 0590 pb es g0
CF
i z T
Tog dislgs Uy ol vl UT = 751N (Wi +;) et A 900 abali e Al 8T ey ot
: YT i T . T : m
Uy =Tsin{wt+-——) (F u, =vsin{wt——=) ¢ u, =vsin{wt+—) v u, =rsin{wt+-—) o\
7 5 F g

ot e gt LA Lo o B0 P LI JCPRI RO YA off 111, TP PR PR T S o195 ey glgi 30 alald
LS B BPRURE g PRV I PRI, | LA E T P R, e
< Fo(F L L Y (Y AN

P! e dly 3 10 il ol 3 o 50 5 Ll g5 g o Gt D 97 Sk e i &g VG 9 Yy VD

Vg«Vy<V, ¢ Vg <V, <Vyrr Vg2V Vp Vg =V =V o

PR | BT SUPSEPIIL SUR PSPPI PR SR 1'3% it g b ] g r‘:ﬂ% EI-JOY PP 1 INCIES JYER I PR
Tag dalgd adll o e il aie
T (F T ' {Y e £

Aol ) slboslagad 1 uSiy i el o Lowker e gloas adeold B il Tl 51 padi sl ] 55 Lol yuma 595 sle)8

(el 75 u:..x-.-...-l..i.-.n d.-.li u.-.'i_-.'.l“n'cq..-.-!{[.’l} a2 nd 18 s e () gl e ki

1 75 SO i

(f {r

BT

i

L]

]
I PSS (P

Tl a2 52 aiay il dagl5 ldBl il b b g g B sl g P S0 e il g el gl T g 50

Fuoqf Fo (T T R

s prams a5 plaS adolizag 0801 grlgal sl i by bl 1

g, ga ‘..J“"J”I—""!':'"'ﬂ' Elpal s e g 2 e S5 (Y

Ryl o ol g 2SI glpal (2l e Gy P8I oy 28 e aa (T

gt i f8 el s s (g 2SI e S g (T

o by 7 lpal Gl s g S S o gy AT

il s au W plas | edolidiog ol plaal Dilasls b LI 2

i g S e M e aloll e o edebinag S8 Elaal als D sl 0
T S 5 ki ol 3 pbilzing 811 gl 5 0 ot o (X

analy anale it a2 VA B sty e S0 ST e g ceeda Tt Gl atelo Sl s oY
Sl 32U s bl il L odoling 2501 glel Coali sl (F

-Ta

-TF

-5y

-Th

-14

¥

~FY



AAIITY aiibpmdy e (F) Ly S e

] 0 jl) A Akl il 30 il s Souds el P VD S0 SR s il Lad 1 akadi S0 s
# HT (% JF HT (r YT Oy HT 0

Tl a0y 35 1o (ol o 1 0 L Jgnale aifyd (g5 Sl pac U gy jlu ol 52
it ol gt ol te B3 Qlat b db slacer i 30 aTaed (et Aila JeaSLe nild (0

abs el we gl e dae il el aigls g ML ele e LTl e g e Jgb pesled (T
s el ay o e g e o9l Lol s T Sl e A S gt 3 5] lgd (T
a5 la g e Wl el g gl by Jpeatla el laz ga (F

PTCIT| e prper pu SRl d] pprpt vl TITFSY MS Alp 0 griml k_gl:;,-}.gi S (BAA M e fab) 3)] 440 Cae
- ﬂ-jh.\ﬂ#..?___-

Ae (F AT VYF (Y IAY (1

¥l .1""‘:"'.".".' U...l'.nﬂ —-ﬂ.q.':'...lnl.:l —l—Ji —|5.h oalo .J"H" jl 'lj-:-lm = ML&.ﬂi}:ﬂl El}qi ey
lye (T Caladl (Y ol (¥ -y

TIAAY L2 (et 40 oomi g il S o Tl phai g e il ¥ gl 453 YO (glod 3 (509 g gtlm U e
a8} )5 R alor 3l ey alas B skl (pogamla cannss 1) 5 yidin (5lod a2z 33 il plwir! (g2l oGt o glas
(S o agaalis dzys 211 017 g Nt i T w1y g g Y Jgle B!

Taoe (¥ The T TTS (T TFe 0

it sl i o e eadS 2 gl g4y Ao B yhae 3l e il b glad 4 agrinagl] (go S 5 S

TS o gl
Y {¥ AT Y& (Y v

oS o i Ty g T, 5l les af atiie Szl P = (AT - BT}V 2500 21 pgeass gadle oy 2l galsles
TJ{TI‘_" (PR ¥ -!Ja._ﬂ‘:, |a|45' _51 oaks ;_".__1_1 -h..dg.l CIEPREYE T I LA LY Caly JL:J

WV VAT -~ Ty - B(T, =Ty )] o7 W B[AIT =T =BTy =T ¢

A(Ty T - B(Ty =10 ) of A(Ty - Ty -B(Ty =T, ) «

PERPL P LxbF IO TOE SRSy | IR 3 TR TYC PRI S [P PR 1 LW R e i ey e v . g P I 1
P D sy it il Yoo by gt e lins) Sog ) o0 Yl yin, Tl iz ygiansy patas (535l a3 VA0e el 4 5
(s

YA (Y YoelA Y LA TiE £

i g3 L ol ] 35 50 s g el (g0 e e ok ALl B Sy o il e ST Jge T gl
Pt el gam 3 e Jai A R i) Spaleayd G Loyt Jaf aie U0 ol gl meira on L3 S50 gl
{dond

Foo (¥ 3 P P Forerth

R ; : z
el T alols 33 a8 yga 10 il 2gmge 0 Calify | S0 S L JEs g R pladoar 50 5908 RlE e

sl a8 S g 0,8 48 e g3 S a8 o ajladl gl U 56800 s I}{ Elad ay glo 5 w0,

R R R
p— TP— po— A k]
FE, TE YE,

—FY

-FF

-Té

- FF

~-FY

~Fh

-F4

-8

— i3

-1



AN Y alilipdy pove () ol s

ahise En) SC il pla s £y o By 0opif cayd g Oy o Oy bl o U bum 90 oo 50 59 b 4l JS

(b g Sy S 2SI
o
£, +En, +£.FEn, o (&y — £, —=)En, (i
d,
a ;
(€r _51_T]En1 (f (Ex +E1_T}En1: (v
a, Ty
' . = - - gk _
(o] 5 a8 53 s ped K} Vit plad [ o o U Bl 55 5300 L JWs ol D = =T plmls Jlap
¥ria
¥gkr vgk
1 St qk/fma’ v = ko
tma Y’

33 ol G S0 S s dlby = (T T b gl I8 b ge b ailge g aloli b gale 0 Coled o dmis g2
0 8] F

s i 15 i (T St
E'.g. TEE Eﬂ}

ama s sl g, g8 i by KBS Bt 8 s gl) e pgfian o 40 pliaw 83 b Pl G o 050 b S glo
ol gl S 030 | s S e o jlad] i i

E, Sin(?} (F P, Ein{?-] {r P, Sin{f) ¢ TP, Sin(B) o

lold a5 ag 1 g Ty 9 63 Vg Vo JF1.0af o vif por abiold yaldore 5o 59500 ylimne 33 goudas sl 13 )5 S5

I ;’J; * Te ¥ Fa r Y Ta __.-.!".-; » T
(=) TV, (=)V, (—3V," v (=) TV, o
I'-I ]'1| r,, :I'-._

a5l 93 31 3 35la ol 1 i & pgens T b F(L) = U gy )10 5158 jus o 593 11 o 5ed 03 (g 1 (glanded
Fand en yliid 1) dalad S8 o £l le dda 38 plaf walil g = 0] s b IS hsl o pd I 300, 0o Bde
L4 L Ty 1

LI | d-..n..l_::,f p|ﬁumm1 n.S‘,.:I-.':"" J!J.u quj b JL';_’-:I..H-LL..-J_JJ:LL}__LQ eolos L ialem J.‘;Jng.r J.'I L)
+bx 4+ x’ e bkt T {r ~ bt o +bx'
sl l_:,l.l_.n-‘r s TSV RRNT] I W, PPy V= i'r'rc SFT].[W[} wtglatin -ﬂ.fj_ﬁr_n § yad EE l.!'JL? H Canalio 31 ¢ gafde
Yl doy 3 plad ol W gldaaly bl 2l 33 podld a0 Fi Slidy

i \ Jr
ieme Y BC ¢ (¥ e

R TR R

_AF

-&F

-Q0

~F

-y

A

-8

o



AATINTY dsbigs pome (A) o071 § (5l danns Sy

S g 4t 033 S (9w 99 9 ap 99t W 0yd Al glor &y guaiTgnoly (glivaces allocial 4o o8 ol pdy ol LT
Taigar i 5oms

el alyy S50 g ol dles i la gl Diglis AF | Maades gl ()

238 s D8 e ol el ol e OV

g llar 7 b g8 lgaal) azesa Tl (T

Ayt i pile din jlaat 25 D5 g SR an p o pyama g s (F

g s oy pli (tunneling) Soolig U 4 sladeds 31 { headby sler) sy hwdl duw 5 833 jges dosr g 2l
Tiewl Fajud ool plos p Soa Soulig
(hsgly poiias olay Lol F 28 > o3l iy sl (T 530 iy Lol Y ey pae sl ()

Y ale alied Gl g5 glyla (L allanal} WP 0 0F dies jl ool i | gle g mnd]

Fagg ol 0gh semy (F ezl 3l L8 baazius g% 6l cghis ()
atact I g 2SI 5] e 2 Sl el lis (F URSSR T R JPPCPC JP PEJH

g ool (53l y LT B | i g ] 0 39y 41 oy 3 o ol pos 49 45 90 gl 03
s oo hihilee gt ey b daid (1

KT R+ P K TPT L LY PR S

A, o 2iKile alye b {weak fOree) cas gogu g 3l beid (T

i3 gt il 2lys L (StrONE fOTCR) g58 5500 B po 5l bazs (T

I PR K PTG VT S A S TN KT I g :Li A da | :';HL‘ sy v | S 50
L3 allecd (Y (internal conversion} sl Las ()
{electron capture) e 250 e (F B dgmy cglode i Rl (Y

il 2la8 ST aigai ol yo gloday & 03350 Sl ANV KEY g1 41 ol 39igh guiflgealy Jshone 5 5
i s Ladh (Y Lol ailomnd dndd (3

Ll ol g P alloed ¢ (annihilation) s saa, 5 B sl v

P33 ,8 oo salin L dnd plad ja (nuclear binding energy) slacme  Fiwasn 5550 om0

el b Gt Wil oo sow o alaacs (X i B0 BT b e e a8 olaaiis )
.;4'\F'U11I'IFIHJHJMJ‘II_LE-MI:$ atead VY0 B A- Lpl'u_.,:z_-,:.m:nﬁ';_,;:u{.;._.s.s{".'

il it i it g et Vo B dy dnin ai g0 ¥l il Ve 2ld8 3 e ol Ve KB i le) 30 dnis 5 a5 gt
] @Uﬁqﬂly_ﬂh ot P
ail aa (¥ il e T il ga 0¥ aqli S5 {0

. . o el . e - . " X ol e
g allozl B2y ol il s 098 pe gl i1 h @il 5 29000 bl iy p alewy 4 Y A S pil diies

Yoal
G3ris el T L1 W
o Sl 3 Jlorenl o acs ol (Y e el (T

L |

abily Fasilpe (F ot 3e g (T e A LS 2 lgiss 095 p ()

_FY

S

-FF

-Fd

FF

-FY

A

-4



ARIVYA auiiipess e () o1 g (gl oS 50

Zomt Jode b olidofod o pae dr ey plod 10 gl jabe au by 295 5 50 Jlg Vee pion bRy e 0 0lF g0 08
et Ta Al 978 TIe Liigiad buumgie (B 50 s ) ¥ 1 (shalald 4z 53 0 oo A iasili BAY
(h=6.626%107%15,c=3x10%m/5) tag aalgs

PAAT (T VELT T 904 ¢ YA-F (0

aZ g e e el T & (39T ad a5 e o3l g gae Jale bl [y Il S g il (g5 51 il pga el ST 85 S
(h=6.626x107%15,c =3x10%m/5) oy alys 4ilh p 5o p Fols

VYT o1 g YIFT et (Y AL 1T g WY )T )

BIFS 1T g TIET 21T Y LA A EIAIPRTI & - RN

o= EIT oy uivaall 51 g 280l o8 05 o (gl il o copiaad] s S gy 1 pRagili Vee mge Jabo b (5590
RURESPIV - TIEN SR S [ %I [PIPYS I DO LRI UK SR L d | FEPY BRI e NE-E0 J GRS g ) i1 JUNY
(h=6.626%10"%1s,c=3%108m/s,m, =9.11x107!,e=1.6x10"°C) sl g 395550

VTIF § VIUE (F AT 4 VTIF O VEIF 4 AT (Y AT 4 AIT (8

il A g dgliiee 00Ty [atielS 3yad 0 L bl o o Al S5 g9 &F gy el 5lF T Sl 5T 0 g A S
ooly B uiz 555l g 3adign i n (43 v 1) (5Hsgl) A St (g ) AL gt e g3 <Y (gl g
Ttast g g iR ade ] e

Y WTY (E TR A iy ATL S VITY (Y T SUNIL Y

E3 a3 y95 1 ol iS00 355 1 oty Gl 8 F L g e @) oS b oSly g S F (pdeier 53511 L Pa

SN P 5 BTN | -, S TPt Y S, (N ) [ ST Y- T PPE
wl ~(elastic) j=f ¥ wafil , felastic) sless ¢
as o -(inelastic) glewd a0f L -(inciastic]) ees o6 (7

by 30 galy g ypme Jam g 2igla 13 o S alold o df Sl oad JoSUld ML g g dy ol 93 51 gl 90 5 oSda S
el 03 uiilgT o F Caf o 0 il s g i diile 4F B pd el b i g e () 2Mugl) D e U ol 80 [ G ales adald w)
Tugh e Sty il 2125 I pagiilyd oue gl & See aanliled Flige ol

n'h' /ve md" o n'h* /mmd" o nh/mmd’ e nh/fn md" o
oiia ol 8 (V) Joa 3y g (g il oz 3} g 5 (A} 532290 B30 Jab olos (g ) (slaladly
Fireaal |ﬁ|..1.5' (g i ) Jhl-.-u!-

(h=6.626x10"%5,¢=3x108m/s,m, =9.11x107 e =1.6x1077C)

A=(150.6/V7) 7 A=(150.6/V) ¢ A=(1506V) o A =(150.6/V)2 0

; = -
Ay s ) Filn 8 M b me VTN B e il gm0 waase g 5501 Sy lne g5 5l o a8
Puch g g U B i o e

(h =6.525K!ﬂ-34_],5,1::3x [:_'}Hml.r_.;-r’mc :9-113‘{][}.3[,!::|-ﬁ>ti1[:|_m(:.':|

e 13 galold 54,3 crl gt e | |l ]| pgms L olas calold b ide s ge gl 4o slagd
eyl i 4 =3 g1 =1 bl gl Lol 5
r|l'|"'lr5.ll'|'-. (f -||1|-1-!-,l1|-'-.[1|- ¥ fl.Il'ui"'r- (f N j.,"r..:\

-¥Y

-y

—¥F

-V

V#

-¥Y

YA

Lk



AT aclimly s AED! il g gledins 54 jud

Ly oromias A (o1 o 33 cienalad g 8 g alens ] 585150 Zas Jab baph S0 15 ;0 coahed pus oF | T jaes 40
Tadil aslls adlel, oo 030 Cak pun

3005 i (F Fagf (¥ Py A 0

o pal

TC
ol dlu 3 ola8 X = — ahdi o ¥ = Log{cos X)) Al oxia p il ke a4l gy
1

i \
(F Loge —_
Loge J - Loge

Al —Loge 0

Sl plad B(FY lake aat F(Y) = 71 s2(x)=x" —fx+a ¢ h(x)=F(g(x))

i (F T YT -Y ()

Il? L1 :
H P! E-,I"T[R Jdx e o G ool
Ty T =T (F wr?—ﬁ{'r -,,"?—HT ey

Tl plad ool 03] dofw dooli Can b

T(F & (T FOV A
—— -~ Cotg x)
] I“I"‘! k= i x Jf-lj-ﬂ
x —
- (F —ea (r v +em (1

el a3 oo [x T (I x4 1)dX 2 te pot

]

txe X Lg g l}'{ﬂll}i +Y 4T txlnx+e — %" e
t

T

- (x .
Vol a3 alad |—= 185 i
23 @ Ll-l-w;"'; a3
T-u'r;—ln{-.f;ﬂf ¢ vlx F-Tln{ﬂ o Vx- |[1{-..l";+ v Jx - in{«.l"_+ YA

A iy . o
R T — [ |a! i il E{X) =008 — g T(X) =8In VX b g3 Lol crgbd o532
i
\ 1
— If 5 (T LA =
¥ T
X —X
i
sy sl ﬁlﬁ fl::?i} = |f.'"'" Qg
) X i o7 h
& +C

(—0.5,+ 0.5) ¢ {=1,0) v (0,+1y v (=1, +1) 0

-A)

AT

—-hY

-nF

-Ad

—-AF

AW

= A A

A%



ANVIYA didpss poe (1) o3t il

b el ol 432 —8x + :r’z =10 e il g3 dlold

‘\I'%Ef 2\‘%“ E‘Jril{"‘ \"E[‘-

£ PRI I 9:-;3+16}=2:144 Alalen dy b Cumlos
YT (F VYT VER (Y VPR O

S M i ol 2 Sy ol 53 RS o ik TMA = TBM gatal, ;5 M g A(Z, 3, 1) s B(S, 0, 1) bt
4

¥ oV s
(14,2} ¢F (—,—. D) {3y, =F0) ¥ (—-,—0) 0
7Y ¢ &
au D o C bolii cobiaizen ot B8, 7,1) 5 A(LY,0) g aib ABCD £3a¥1 g jlame ol 55,0 MT,T,7) abaii )

(=%, 5 A) 5(hY,— 1) ¢ (=L}, (., 0

(A7, =1) 5 (=45, A) f (r, =V 4 (=01, 1) o

aw! yodir pgo o gsladilys asa Joole bl oy ledl g g ks Sl

Ve (F - (T rr Y ()
(Y TX -'fI
o vx' —f[|=0 Poylo ity i 5 Aol
fo—Fx ¥ |
Loz (¥ T ¥ (k) - 4
[y -
Bl plof | B =T | plecd Y STX ) b g
—F T
(=¥, =7 %) (¥ (v,#.—¥) v (=1 =1, %) (LT.=Y)n

d
Tﬁuwl 0 s l..;':'i'..".' —}I == }" ‘_}.._....'.I_l,,&.m #J-JLI.IJ J":" l_k,.l.-.‘l -d..':l.ﬂj FL:._';T'

dx
B s s ot Ay =80 (¢ a a0 a . 0
= . =— =
n Sy n+1 BN iy 0+ (n+1)
Pl 319 (gt Sy aldd 38 31 Sl
1 L
U“=1—r/:’ % U, =- (1
n
?
log{n)
U =logi+ 1 ¢ 1], e o
" - i +'1“]] " il
Pilewl aly 38 olaf ¥ = COS(XK) 2.8 ol 1 4 g il o3
d';lrl'l"'n i [—'i]“.l‘-ll Sju(x}d:‘;'rrl'i"l o d;rl'r-l"l =[_1I}I!'I+'I GUS{E}LI}:T“-H 0

et T : +4
dy' " = (=1)" cos(x)dx ™" if 43" = (=97 sin{x)dx T e

=y

-4y

AY

-8 F

-4F

-4¥

A

-44



AMWT didipes oo Ty wst9ef ol

a
] a3 alad Y= ——— aln el pis
¥ bx +c

n
n+1xab™t n!x ab
d; ={—'|}n {——"*l-—-n—;;-—d?{n ) II]? = -[—E:I'!H-i ————nﬁ'dln i
(bx +¢) {bx +c)
+1
nix ab’ n+1)b¢ab™
d; = (" -?-dx“ {t d? :I[—v.]."'H L = ~dx" ¢
{bx+¢&)" (bx +¢)
SiYpRd
] gl dai | Jples molE e SalE 4 iz faba g o plaS Ry
paely s o Ble wlae (F Galy S il alas (T Ll Al (F Lgrld alas (1
Tl fremee 3590 plaf L2 5l ol 200 42
Apdge Sl G JUS a5 5Ll e Jaaa (T otk JHI 44 9) Sy dmet {1
et e B rde %y i glilals o nii (¥ ada gn bl LEE b 2ol OF

gt sl jlars joann @laf (gt S (55l 52

yo b i & aznn o (F o slEngs 4 A8 e (T

.}g,.ill_;n Sk L-E'thhi:-' e e R ,__‘J’l—l J=la _,E,,_,:u_ljil A ennrar sl LF.ISJ""'" E_;EF ﬂ.--wl.'l{, wlilc t..“':"'.lpl

O3l 3 - gesste Y (Y Copreal s = Gyl P et
gl 5 gt =y g s (F ot P e = gl o Y o (F

Tool co  ubls o3 Sl pla yo Sl alds 33 | rlisol dadas sl alals

PR AP S PUTIot PP A e BV L T TS glaea o ka2l Q1

5 oy el el e il (T A s e Sallad T

il (el 318 plad Ly ol pads prasad s g K10 4y 55 0l g o g 1210 an 0y Gl e e TP PeRe . -
¥l -F St f R g T PP O TR Tyl io )

Vol A d JF dy e 30 53kt g 09 Fiaail G yed (0 Tege
L S aliglf ad (T peiig e - edef ol (F RTRE AL JPT R PP & S L e SRR PR

A pse ot 3 el S ol e O
St o ) e G et bt s (¥
e et 3] a9 g ol e (T

ol o al38] e i s Ty e gl d Codled g i b | IWE P O | £
abiit ot et —alae ol L (T alec fad LD -slae | abal (0

. -y = - " - " s & i e |
d-.!-.--:'l.i'- ‘__-.J-l..-\.ﬁ.-ll d-._L..:t I|I_J...:I..':'.- ﬂ-,:l.:'_"-: I:-f -JJ.-_"LI: q._'l‘l"""' F-\_l.,-_\.,-‘-.'-.:'- 'ﬂ.l—n l'_.--t'-'ll--_\J-ll ':TI

_H-l-l

-1

_}.¥

-1 F

V-

—1.F

-1

|



AMIYYA dilipss pesa () 5891 jud

Tagla md Jolad s 0 o5y alud

et ) sl et e pliesd (gl (0
il glaosi 5 (F ezl egtaosiF (T

Pl o gl oyt 0 ddaisly 0} gla Jalu digame alaf &y 350l 2g,9
b slo folo g ALSIL ol ol (Y et glo ol g g8 clo, ol ()
s gle b 5 oz ls, Job (F stz wsle Jila o 0lae cle |oLa (T

b I skt aylpa (Tension) guidd WY aild b
FUP CINPL V-G . S PR E N | ghe S e o, Fled Y
..:-JI.:-L._E;;,,_.‘.JJ}ELJJSL?{? _ajhl_:,..is.;.?.ij;dr,j:._,l.:,i{'f‘

Tl oo Al oy bl Slanf prge | Slule 95 5 ) oW ISy plat 2
(P PR )L NP B W - A ) L™y slaretigw fliea tusls {1
il les mala gl iSe ol Seld (¥ il pule Lah bl P

i wtafliae 'n.E..L'i-" g g E'!E" _}L.?.-ﬁ Oyl i 43

@ el (f pash Al (7 g duloa (V e elasd £
V| PP ] L. POURRCA | EASSCIrN R [ 3 S il g8 (ol gMiily 81 EEG o lgal aials
i Syt - e (Y S Dy - s O

Sy REM Ll (F 08 Lt et g (T

T ]

Polad el ol s 8 v ear wolacl

e ealer T35 e p £ s e pge 7 (T SR S ) sk paee Za) mus e Al Zy) O
iR et T e T e m e pae gy (F PR e T3i 5 e E mugie it g (T
Q'-'_'n...u_..'._‘: L._A._Jﬁ ""31,'1"1""' u:bjf J-.':i ‘-r.lﬂlju':_‘_:.—.ﬂ ,-.j_:.;!.:__a.__._'l' P L G S -1-_;3:141'-

Stapes aslyc ol Sl oSl il - ugtlle asslya ol Stk | SE 280

Stapes amlymrl Lol b 8yl - gl amilyal Slala | Rl el (Y

Stapes axlysel wlolar )| oSl sls — gslle asslyiad ilibe 1 oSl sl (7

Stapes asilysal Slile | wSlS, 2alf - atlle asmilymnd Ol ) eS8, el 3G

ol Jlad 79 e plEis 0 b iS5 S 13 Jab uad g olagfi jo alias elas

peted gt ot s d g3 gl alze (T crrenglle a8l b ()

Vel e (F E P P e et alae (V

RV P e N LU -1 oty WL ar, WV PR T L

Al

-1

-1

-1y

-1¥

-1

-1F

-1y

1A

-¥14



ARNITR aidply poas (1¥) for e

o ot oluac! IS5l o 84 139500 et W55 argly @y g a8 b pla g ny 4T Sy shhsoliCanngy Y-

oo A glaaily wamy mgy cleasls (Y onis 1 glmals - L5y a8 glaasly (b
poy may cslaasmll - 5o 8 aSll gleasll (F anin =y slodils - o 8 el (laasls (¥

Pogeni gt 9il) Sl g mme Jeads ja L RS0 Gl abas plaf -TY

i Sl i Bl s i X o3l abae Q)

Tagds ai peali 83 olalow aliae baugh o p ) Dl po gl Saalas SATY
gile oo @y pm o (F gk ot lal (¥ gib ol (7 T ¢

ROV PV SRNDIPASUIY SCL K GO QRCHNY PRV TR K K] ISP PRI o PR TOU- 0 P VRS P L D PR J B
=P RV

o6 ped pns zgg (T 8 et w3 g (V o5 e i g (T L5 A et 93 0

"--.'I-.JL__I_q F-.b._a_-.: l'."_""‘:.""-" L':IIJJ.} .d.gal::r {53_:,.‘-1512-'.: A sl d_].'d- ‘51_:3.1._1__ .:a_].[l.-':- a ﬁ..'l...':.-c_nqr E..I.h- u:-.'.'iLT.m.llI! ]l g =170
-.i_JLq.f'J,HLl_EJ_-::,S' r s 0 HI__._:“.L.J.,,}._...,S' I_-,.;_.;..M...-‘.,I',"I"I _;_,r_.ﬁuf.!.:_:,.: 43 ,_J..:L-a- _||.:..:.|{"|

Sl ai Jlah alas alaf . Geac a3 plfon jo -1YF
aiginilaga i g fnd allie (F ey eesl gl 2l OV

(OWRES JUIURTL jpy e SRRt FEE S S T B A
(hid e gl eon a2 o i fel el et Ly 2 1
cglous wiy il e lase doe s - pgi el e e oty pa (T

lotia Bgpad oa gz a2 opgl 2t ) dagi Lt T

cglaia pp gl rpnlym oo o mal il st iy (F

SRR | B | IS XL PL Y. ;1}3.71 sleasll  -ATA
e s g lF g oo GrgRl S a L slidl o (T ooty g el il ygteaia e gl (O
vy 9 Sl sl ST o gty 16 pipie oshaals g (T

] ooy 2l L 30 5 g F | s -174
PRERIAERE s Sns plashi obd i O
Lot Y g i ! Gl (F ool ppedina plagh el o {T

Tl JU 5T g 8 g8 10 e 1Y
":“"'"’IJ .:H"I“':' » :_-r"l"""E':' "-éi':"l =4 t.l_,l_'!-—' ralt |._1__,.!.- I 41 ‘—"-'"'I_I .'1'-'""*"7' 2 |.r.‘i|"-r.'5"§| ‘-':‘:F-"I iy f.!.!f"”" "'.‘“'I.i "'&.IJ'” > [

=l F P iritt - ; o e gz : P e
sl pulae 3 Slood el g Fligee e Byl 2 (7 ) gl e Sloed Gen g Pl codp e 2 T



ARNVITYA aclamly Mo (14)




